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Semester 1 Exam Review Packet Name

This is a sample of the material that you will need to know for the Semester Exam.
*Each problem must be completed with work shown to receive full credit for the review!
This is due on the day of your exam

1. Name an angle that is coterminal with 100°

a. Positive coterminal la
b. A negative coterminal 1b
2. What is the smallest positive angle coterminal with 900°? 2

3. What is the smallest possible angle 0<8<360 that is coterminal
With 760°? 3.

4, Find cosB if @ is in quad 4, and cos26 =-;—: *4.
5. Find sin2x if tanx=-’1:-25- and sinx<0 *5.
ooy . ., =3 2v2 N
6. A.Findsin (A +B}, given smA=? and cosB=T 6a
A and B are in quadrant 4.
% Find cos (A-B) 6b

¢ Find sin2A and cos2b 6c
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